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Math 102 - Fall 2012 - Test 3
Koy

Instructor: Dr. Irancesco Strazzullo Name

Instructions. If you use graphic methods, sketch the graphs and label significant points, like intersection
points or intercepts. Each exercise is worth 10 points, unless otherwise specified. Always use the appropriate

wording and units of measure in your enswers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Find the rational root(s) of the polynomial 6z* — 3722 + da: + 12.
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2. Perform the long division
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3. During a two-hours eating contest the number y of hot-dogs that Frank can eat each minute (eating
rate) is modeled by
y =221 —172% + 192 + 1,

where z is the time in hours since the start of the contest.
(a) How many hot-dogs per minute is Irank eating after 15 minutes?
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(b) Find out the maximum and the minimum number of hot-dogs Frank can eat in one minute and
how far during the contest he reaches these extreme eating rates.
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4, For the following rational functions, use algebra to find the domain, then use algebra or technology to
find (if any) the asymptotes (vertical, horizontal, or slant). (Each part is worth 10 points)
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5. Let g(z) = 20 + 3 and f(z) = a* — 2. Compute (f 0 g)(z) and (f - g)(-1).
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6. Find the inverse of the function f(2) =~ and check your result. o
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